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NO.1 ZE | /4 =
4 ROBIFERERAETHERELS,
(M) { 2 x + 3 y = -8
y = 2x
) { x = — 3 y + 2
3 x + y = 30
(3) { y = x — 5
4 x — 7 y = 47
(4) { y = — 3 x + 2
« — 2 y =10
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(1) 2 x +3 y = -8
{y=2x
QzDICKATBL

2 x + 3 X2 x = -8

2 x + 6 x = -8

8 x = -8

x = -

(2) x = — 3 y + 2
{ 3 x + y =30
DEQIHATBE
3( -3y +2) +

- 9 y + 6 +
-8

D

(3) { y = X - 5
4 x — 7 y = 47
DZQICKATBE

4 x — 7 ( «x
4 x — 7 x

+ 35
-3 X =

X =

x = -4 =DICKALT,

y =
(. x, y)=(06 -4,

B|HTEZSPRFEFETI L

http://chugaku.manabihiroba.net/

= 47
= 47
12

IR AAET-T



EIATEL IR AAET-T

(4) y = — 3 x + 2 Q)
{770 1%
DZEQIZKATBE

x — 2 ( — 3 x +2) =10
x + 6 x — 4 =10
7/ x = 14
x = 2
x = 2 #OIZKALT,
y = -4
(x, y)=(06 2, -4 )
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